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Reasons Why Fundamental Accounting Concept1 Test Fails 

IS10 

Comprehensive Income (Loss) = Net Income (Loss) + Other Comprehensive Income (Loss) 

 

What this rule tests 

This rule tests the relationship between three very common line items of a financial report: 

 Net Income (Loss) 

 Other Comprehensive Income (Loss) 

 Comprehensive Income (Loss) 

If a reporting entity has no income tax expense (benefit) line item then the value is imputed to be zero 

and then income (loss) from continuing operations before and after tax are the same values. 

Of a total 9,679 financial reports examined, 9,373 reporting entities, 97% of the total, conformed to this 

relationship pattern.  A total of 306, 3% of that the total, do not conform to this pattern.  Of the 3% 

which did not conform to this relation, the following is a summary of the reasons: 

 Entered the reverse value for other comprehensive income (loss) (approximately 18 reporting 

entities 6% that do not conform make this mistake) 

 Filer is confusing comprehensive income and other comprehensive income 

 Other issues 

 

 

Common reasons why test fails 

 

Entered the reverse value for other comprehensive income (loss) 

 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1302177&accession_number=0001445866-14-

000993&xbrl_type=v# 

                                                           
1
 For more information on the fundamental accounting concepts and the relations between these concepts please 

see http://fundamentalaccountingconcepts.wikispaces.com  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1302177&accession_number=0001445866-14-000993&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1302177&accession_number=0001445866-14-000993&xbrl_type=v
http://fundamentalaccountingconcepts.wikispaces.com/
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Filer used the wrong concept, other comprehensive income and comprehensive income are two 

different things: 
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The filer reported the same fact using two concepts, plus the concepts are inconsistent: See the income 

statement and stockholders’ equity disclosure: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=737758&accession_number=0001104659-14-

064701&xbrl_type=v#  

Once concept is used on the income statement: 

 

 

 

 

A different concept is used in the stockholders’ equity disclosure: 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=737758&accession_number=0001104659-14-064701&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=737758&accession_number=0001104659-14-064701&xbrl_type=v
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Plus, the two concepts are inconsistent with each other: 
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Filer is confusing comprehensive income and other comprehensive income 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1331275&accession_number=0001262463-13-

000387&xbrl_type=v#  

 

Line item says “Comprehensive loss” but concept is us-gaap:OtherComprehensiveIncomeLossNetOfTax.  

Other comprehensive income is zero, note the balance sheet below, accumulated other comprehensive 

income did not change, thus it proves that other comprehensive income is zero: 

 

  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1331275&accession_number=0001262463-13-000387&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1331275&accession_number=0001262463-13-000387&xbrl_type=v
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Used wrong concept: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1094058&accession_number=0001193125-12-

473658&xbrl_type=v#  

 

 

Per the balance sheet accumulated other comprehensive income did not change and therefore other 

comprehensive income is zero. 

 

 

 

 

 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1094058&accession_number=0001193125-12-473658&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1094058&accession_number=0001193125-12-473658&xbrl_type=v
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http://www.sec.gov/cgi-bin/viewer?action=view&cik=1371310&accession_number=0001294606-13-

000280&xbrl_type=v# 

 

Balance sheet did not change, therefore other comprehensive income was zero, comprehensive income 

and net income were the same. 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1371310&accession_number=0001294606-13-000280&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1371310&accession_number=0001294606-13-000280&xbrl_type=v

